10 BESEGEHSEE

(1) F2EE K O ax OF KDL

G2 IR AR B HEEOHIT 2 HES iFE (IIETH 3 MEqk.
NHIEIEEAMETH Y, AIFEE LRI > T D,

BEHIGMEHEMAEILZ4 0, 45 2T, AIFELFRETHY ., INWERHIT1, 4 35HT, AIFEIC
R26H (1. 8%) HMLTWD, 1 HOFEHEHEEET1, 36 0BT, AIFEEICH~3 204

INSERT 2 fig) T, Wi

(19. 0%) WAHLTWVWD, ZOFEE, BEFRIZ0. 95EEZRY ., FIFEEICER0. 2 4[H
(20. 2%) WAL LTWD,
TR FIARNOHER
O K RITAFFE g

H28 H29 H30 R1 R2 b-a (c/a)
H H a b c| X100(%)
i = ¥ 6 6 6 5 5 0 0.0
BE E O O | (nf) 40,452 40,452 40,452 40,452 40,452 0 0.0
)74 7w = ¥ (&) 1,409 1,409 1,409 1,409 1,435 26 1.8
— HYBHEEFE 5 (H) 1,709 1,775 1,725 1,680 1,360 A 320 A 190
[a] [ = () 1.21 1.26 1.22 1.19 0.95 A 0.24 A 202

(1E) WfssR=— 0 P a i IUA G

(2) #EIRN

BB E DI ZICBIT2RNSIT1EI3SHITMAT, BIFEEICH36EH M
(15. 7%) WALTEBY, REMHIZ6 9OEFTHT, BIFEEICE~11HFH (13, 8%) Y
LTW5, ZOfFE, WEKEFTIT1IE24ETHORTLRY | BIEEICH_REBEFTEN2555H

(16. 8%) Wb LTWVWD,
o, BRI FKICB T A2IAIZ AL, XHIF1E245FHT, BIEEICHX25HB5H
(16. 7%) WHLTWD, ZORREK, IWEFESITIXIE2 4 HTHORFLRD | BIEEICTES

FREN25HHIM (16. 7%) WA LTWD,

INASHOIN R & EARIN R 2 B DB I F AT L TR Y . ZHUCHIEEE D D OB RS %
AL FENCAIZ 1 B MO BRF L0 | AIFEEICHEBEFER 0. 1HHM (9. 0%) LT
W5,

B, PRSI EFEIT 2 8 0. 6% T,

BIAEREICEER6. 6 R/ MEFLTWA,
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2K BEEGIRKIE K OISR O HER

(B2 A % N)

£ K AIAR E LR

H28 H29 H30 R1 R2 b-a (c/a)

H H a b c| X100
e I A 250 247 242 229 193 A 36 A 157
W= % I 4R 249 246 242 228 192 A36| A157
"> b B 4 I A 158 148 142 137 97 A 40 A 29.1
wlAlE ¥ S W AR 1 1 0 1 1 of A111
PRCR I I N 1 1 0 1 1 of A1
i e # A B 94 74 67 80 69 A 11 A 138
e % A 94 74 67 80 69 A 11 A 138
I ObL kB K B & 0 0 0 0 0 0 -
e % 4 # M 0 0 0 0 0 0 -
B3 2 b X A B 0 0 0 0 0 0 -
o % % 5 (A-B) 155 173 175 149 124 A25| A 168
g A B I A D 22 22 22 0 0 0 -
% (U | Hh 77 f& 0 0 0 0 0 0 -
fi = F # A & 0 0 0 0 0 0 -
N T # A # & 0 0 0 0 0 0 -
A I 0 0 0 0 0 0 -
i % D th, 22 22 22 0 0 0 -
g K W) X W OE 218 190 205 149 124 A25| A167
I * #oR W R O#E 7 164 14 40 69 29 73.4
" oG MEEOE A e 22 22 22 0 0 0 -
= * D 1t 189 5 169 109 55 A 54 A 497
N X # 51 (DB A 196 A 169 A 183 A 149 A 124 25| A 16.7
N X B #E 5l (C+h) A 41 4 A 0 0 o A699
i VA & 0 0 0 0 0 0 -
A B b o B & ] 45 5 9 1 1 0 43.7
AlOAE O M B R OH & ) 0 0 0 0 0 0 -
7 A I X (G-H+I-)) K 5 9 1 1 1 0 9.0
VAR REMIE L 0 0 0 0 0 0 -
g oo" Il X (KL 5 9 1 1 1 0 9.0
5 |B 5 5 9 1 1 1 0 9.0
& IR & 0 0 0 0 0 0 -
3 = b 0 0 0 0 0 0 -
I A% B9 U 32 b R A/(Bte) 215.2 257.6 2716 287.2 280.6 A6.6 -
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